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. No. of Questions ; 120
Time ;: 2 Bowrs Full Marks : 360
Note : (1) Ammmmmm-ag'ymm Each, question carries 3

%) Blood Group (AB,O & AB)
(8) Severity of pain
(4] Area of residence (rural, semi-rural & urban)

(3) Continuous (4) Diserete
03 Qmﬂ%dﬁhmb@mwhﬁyi
(1) Ple chart ‘ (2) Pictogram
(3] Histogram 4) Bar diagram
04 Mmmdw._mm-mhewmkedmtmlyﬂdatamm
(1) Inharvalfmﬂo:maﬂe (2) Nominal scale

3 P.T.0.
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05.

06.

07.

08.

Arithmetic mean of 10 observations is 25, but later. it is detected that
an observation of 24 was wrongly writiten as14. The correct arithmetic

mean of the sample, shall be :

(1) 24.5 {2 255 (31 26.0 (4) 26.5

Arithmetic mean {A.M.) and median of 100 items are 50 and 52
respectively. The value of the largest item is 100. It was later detected
that the largest item which was actually 110, was wrongly writien as
100. The true A.M. and median are :

(1} 50.0 and 52.0 (2) 50.10 and 52.5

(3) 50.10 and 52.0 (4) 50.0 and 52.5

Mortthly malaria incidence in a village in the year 2011 was 430,
500, 410, 160, 270, 210, 300, 350, 4,000, 430, 480 and 540. The
best indicator for the assessment of the malaria incidence in the

village will be :
(1) Arithmetic mean | (2) Geomelric mean
(3) Harmonic mean (4 Median

Arithmetic mean of the weight of 100 children is 12 kg with standard
deviation of 3kg. The coefficient of variation {%6) of the weight will be :

(1) 25.0% (2) 35.0% (3) 45.0% (4) 55.0%

Toot mean sguare deviation from mean is :
(2) Standard deviation

(4) Variance

{1} Standard error

(3) Mean deviation from mean
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mammmﬂmmhmdynmgdﬂct@datacmﬂc.amamheria
interested to know what propertions of patients are having T.B. and
HiVpatients  'with T.B. With out T.B.  Total
Posttive 16 4 20
Negative 24 456 480

~ Total 40 460 ' . 50O
Pomnt prevalence rate of T.B, is:
(1) 2.08 . 2 4.0%
(3) 8.0% ; {4) Can not be computed

11‘

12,

(1) 160 em and 170 o (2 138cm and 192 cm
(3) Iﬁaﬁcmandms.ﬁmn. (4} 185 em and 175 om

If the two hneh'af regression coincide, then simple correlation
coefficient () will be :
(1) r=41 orr=-] 2] r=0

@ r=05 - (4 -I<res]
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18. Simple correlation coeflicient () between two variables X & Y is 0.63.

14.

1 Ei

18.

17.

All values of X as well as ¥ are multiplied by a non 2€r0 constant
(say, 6). The correlation coefficient between tWo new variables, will be :

1) >0.63 (2) < 0.63
(3) =0.63 (4) Can not be calculated

When height and weightin a population are perfectly correlated, the
coefficient of correlation (1] 1s :

(1) =+1lor-1 2) <-1

3 =0 (4 =1

Degrees of freedom in & 4x4 Contingency Table for applying Chi-
Square test will be :
(1 4 (2) 8 (3) 9 {4 16

Mean Systolic BP of a group of persons was determined and after an
intervention for one month, mean systolic BP of the same group was
again determined. The statistical test to pbe applied for testing
significance of intervention 1§ :

(1} Chi-Square test (2) Unpaired Student's t-test

(3) Paired t-test (4) F-test

In one way Analysis of Variance, the underlying group means are

declared significantly different :

(1) If between group variability is small and the within group
varlability is large

(2) If between group variability is large and the within group
vartability is small '

(3) Hbetween group variability is equal to the within group variability

(4) If between group variability is not equal to the within group
variability



18.

19.

21,
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The mean Hb level in healthy women is 13,5¢/dl with SD of 1.8/dl
The Z-Score for a wognan with Hb level of 15.0g/dl will be :
(1) 8.0 2} 10.0 3} 2.0 ' W 1.0

The equivalent Non Parametric Test for 'paired t-test' is -

(1) Sign Test (2) Wilcoxon Signed Rank Test
) Mann Whitney U-Test  (4) Modian Test _

R 'Ihgmn.afamxplemzaﬂ and the standard error is 10.0. The 95%

confidence limits of the mean would be :-
1) 210-250 (2) 220-240
(3] 225.235 _ 4 230-210

8 Systematic Sampling @) Cluster Sampiing

7 | P.T.0.
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23. In a population of pregnant females, Hb (mg %) is estimated on 100

24,

25.

26.

27.

women with a SD of 1 mg %. The standard error will be :
(1) 1.0 20 0.1 (3) 0.01 {4y 10.0

Which of the following is a parametric test ?

(1) U test (2) Student's t-test

(3) Sign test | (4) Wilcoxon Rank Sum test
Specificity is related to

(1) True positive | (2) True Negative

(3) False posiitve (4) False Negative

In a population with 10,000 individuals, Crude Birth Rate is

36/1,000. There are 5 maternal deaths in the population. The
Maiernal Mortality Rate, will be :
(1} 365 - (2) 139 (3} 20.0 (4) 5.0

Denominator of the Crude Birth Rate is :
(1) Mid year population

(2) Total no. of deaths

(3) Women with child bearing age

(4) Total no. of eligible couples
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. m_mmmmam.@mmmqmmwby:
(1) Infant mortality rate {2) Under 5 mortality rate
(3) Maternal mortality rate. (4) Peri-natal mortality rate

- An investigator wants to select 5% (1 in 20) sample of the houscholds |
in a village. eonsisting of 100 households. He decides to select a
mtdumnumherbetweenlmmandﬂmn,mzupm
thereafter. If 13 was the person selected at random, then selected

(1) 13,18, 23, 28, 33 étc | (2) 13, 23, 33, 43, 53 etc
(3) 13, 38, 58, 73, 93 etc {4) 13,28, 43,58, 73 etc

p‘T’IO‘
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32.

35.

A person chose to conduct a study in a school, known for its
effectiveness as measured by the standardized test scores. For
selecting such a school, which type of sampling should he use ?

{1) Quota sampling (2) Convenience sampling
[3) Random sampling (4) Purposive sampling

. Mortality Rate amongst patients suffering from a particular disease

was found to be 3/1,000. In studylng expected no. of deaths from
this disease in a population of 10,000 of such patients, distribution
of mortality is likely to be :

(1} Normal (2) Binomial
(3) Chi-square (4) Poisson

In Binomial distribution :
(1} Always, mean = variance (2) Always, mean < variance
(3) Always, mean > variance (4) none

T

In Multiple Regression Analysis, the number of dependant variables
should be :

1) Two ' . [2) Three

(3) ©One (4) Multiple

For testing the sigmﬁcarice of difference amongst heights of scheol
children in 3 socio-economic groups, the most appropriate statistical
test is :

{1) Student's t-iest
(2) Chi-square test
(3) paired i-test

{4) One Way Analysis of Vaiance

10
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An lavestigator chooges to use existing medical recards which go back
mmmwmmmmwmﬂmwm
meaﬁﬂstﬂ-'wm@mtﬁﬁmmﬂ.iuﬁnd-mmwthm
technologies on stemming multiple birthis. This type of study is called :
(1) Cohort study (2) Case control study

(3] Retrespective cohort study (4) Historical study

- A cohort study-was conducted to find out the relationship between

bm4mm-mdmm:dmﬂamp of 400 low birth-weight
15 years of foliow-up, 80 out of 400 low birth — weight babies had
discases. The relative risk of respiratory diseases in the low birth —
weight babies, is : - _

I1]I 2 13,{“\ 3 ._ 3 4 4) 5

were presesit in 15 out of 100 cases and 10 out of 200 controls. The
odds ratie (OR) for exposure is ; : s

(11 15/100 - @) (15/100}/(10/200)

(3) I"I.ﬁfaﬁl'a_fl 10/190) | (4 (15/100)/85/100)

[Dmhmmmwmtwhm: .
(1) ° Ct does not include 0

(2) Cltncludes 1

(3) Cldﬁea'natincludean}?n@ﬁ?enumher

{4} Cl dees not include 1

11  R.T.0.
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4l. In an attempt to study the effect of two drugs in reducing the blood
sugar, an Izﬁesﬂgatur administered Drug I to the first half of the
patients and Drug 1I to the other half of patients. After noting the
responses, he administered the Drug 11 to the first half of the patients
and drug 1 to the other half of the patients. Presuming that the gap in
the usage of the two drugs was sufficient to was out the effect of the
previous drug, the study design used above is knowmn as :

1) Cross-over design (2) Cohort study
(3) parallel design (4) Case control design

42. The screening results of a diagnostic test and the true disease status
are given in the following table in which letters a, b, ¢, d represent

numpers.

Screening results True disease status Total

of diagnostic test Diseased Non- diseased

Positive a b a+hb
Negative c d ' c+d
Total a+C b+d a+b+ovd

Here, {a—i—d}f (a+b+c+d) is called :
(1) Precision {2) Accuracy

(3) Relability (4) None of the above

12



17p/211/186

43. Theuniquehh:renfthesundval%lﬂ:

(1) Analysis of variable witich is time to event
] Underlying time to event variable is always non negative
(3) Analyails of censored data
(4 End point 1s.always death

The Kaplan-Meier estimates are used ;

(1) When thé hazard rates have to be estimated

{2) Whenﬂ&eﬂurﬁvalpmmmmjmmstcmmydmsmg
(3) mmw@mmmmsm

(4) mwwmmmmmwpm
present '

(1) 0.2051 (2) 0.2627
(3) 0.7949 4) 0.3305
The Logrank test 13 used when

13 P.T.0.
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47.

48.

49.

A clinical trial is considered double blind when :

(1) Patients and investigators are blinded

{2} Patients and ocutcome assealanr& are blinded

(3) Investigator and outcome assessors are blinded

(4) Patients, investigator and outcome assessors are blinded

For a qualitative dependent variable (say, patients’ prognosis :
improved /nat improved) with several independent variables (e.g., socio-
economic status, severity of disease, diet —groups etc), multivariate
analysis to be used 1o identify the role of independent variables,
contributing significantly towards the prediction of patients’ prognosis,
is called as :

(1) Factor analysis

(2) Logistic regression analysis

(3) Multiple inear regression analysis
(4) Cluster analysis

for a quantitative dependent variable (say, diastolic BP after treatment
in hypertensive patient) with many independent variables (e.g.. age,
height, BMI, serum cholesterol etc), the multivariate analysis to be

used to indentify the role of significant independent variables, is
known as :

(1) Logistic regression analysis

(2) Muliiple linear regression analysis

(3) Discriminant analysis

(4) Survival analysis

14
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For lung cancer, if Odds Ratio (OR) amongst smokers is 4.3, compared

o non- smokers, it means :

{1) Risk of lung cancer in non-smokers 15 4.3 thnas more than

(2) Risk of lung cancer in smokers is 4.3 times more than non-
smokers

{3;}‘,- mﬂfhmg'mmmw4.3ﬂmcsless'thmrmmm

(4). thafﬂmaﬂngm:lmdidnothamfungmmiﬂ 4.3 times more
than those who have this disease

In a study of ability of rapid antigen test to diagnose strep pharyngitis,

90% of patienits with strep pharyngitis have a positive rapid antigen

test ftrue postitve), while anly 5% of those without strep pharyngitis,

have a posittve test {false positive). The likelihood ratio for positive’

{LR+) test for.the ability of rapid antigen test to diagnose strep
hyaryngitis is : | |

() 5/90 @ 80/5 (8 10/95 (4) 95/10

+ The sampling errors are dueto :

(1) Inadequate sample size only

(2) Useﬁf!nﬂmrectﬂﬂmpﬂngmﬂhudonly-

(3) Mmﬁa@eﬁ_mmwﬂaﬁ-m&mwmpm
I'I-I i

{4) Observational and analytical lapses that occur ﬂuﬂﬁg data
collection and analysis

4

15 | P.T.0,
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53.

56.

A drug company is developing a new pregnancy test-kit for use in an
out-patient basis. Company uses pregnancy test on 100 women who
are known to be pregnant and out of these 100 women, 99 showed
positive values. Upon using the same test on 100 non-pregnant
women, 90 showed negative result. The sensitivity of the test is

(1] 90% (2} 99% @) 10% (@) 100%

In a clinical trial-comparing efficacy of new drug with that of a standard
drug, apart from the rough estimates of efficacy with new as well as
standard drug from previous studies, estimation of minimum sample

size also depends on !
(1) Type I error alone (2) Type II error alone
(3) Typel & II erTors {4) None of the above

The Mann-Whitney U- Test s also called :
(1) Kruskal-Wallls test (2) Wilcoxon Signed Rank test
(3) Wilcoxon Rank Sum test {4) Friedman's test

Registrar General of India is responsible for :
{1) Census

{2) National Family Health Survey

(3) Medical research

(4) Medical education

16
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87. In statistical ltterature data are broadly classtfied as interval scale
data, ordinal scale data & categorical data. Biood groups will be an
' complefr:
(1) Interval acale data (2} Ordinal scale data
(3) Nominal scale data f4) None of the above

B8. Fﬁammmya,mmmﬂmnlmnmem,mtym:
(1) Underde@eluped (2) Developing
(3) Developed {4} Can't be decided

59. lnarﬁmmaliﬁmmﬂanlmne.ﬂmarmbemmzsﬂﬁbmmeanm
either side is :
1) 68% | @ a8
3 99% : (4) None of the above

60. Histogram is made for :
(1) chhnthomdnta
(2} Ordinal data
(8) Quantitattve discrete data
4} Quantitaitve conttmious data

L

61. i Hb level of healthy women has mean 13.5 gm% with SD 1.5gm %,
Wwhat would be the Z score for a woman with Hh level 15,0 £mBh ?
(I} L5 2) 11.5 (3) 105 “@ 1o

B S

17 P.T.0.
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82. For a Gaussian distribution all of the following are true except :

63.

64.

(1) Mean, median and mode are saime

(2) Il can have two modes

(3) Bell shaped

{4} Mean+ 25d includes nearly 95%. observations

For 70 smokers, the age at start of smoking was reported ranging from
15 years to 22 years with only one person reporting 22 years. The

person starting smoking at age 22 years was removed and was replaced
by another person starting smoking at age 24 years. This will change :

(1) Mean age at start of smoking
{2) Median age at start of smoking
{3) Modal age at start of smoking
(4] None of the above.

The range of regression coefiicient 15 -

(1) Between 0 and + 1 {(2) Between -1 to + 1
(3} Between -1100 (4) Between —= 10 +

&5. The HDL = a + b [calorie intake) + € {level of physical activity) is an

example of

(1} Simple linear regression

(2) Simple curvilimear regression
(3) Multiple linear regression

(4) Multiple curvilinear regression

18



17P/211/16

In a sample of 50 men who had myocardial infarction, the mean CPK
level 1s 280 u/l and the SD is 18 u/l. The standard error of mean
(1) 280718 @ 18/

(3) 18/50 W 280/5

If 2 35% confidence inierval for prevalence of tuberculosis is 2.4% to
3.7%, the chance that the prevalence could be less than 2.4 is :

(1) 106 '

(2) 5%

(3 2.5%

(4) The information fs insufficient

mdﬁwﬁﬂm formula to calculate confidence tnterval of mean
of 500 observations will be used ?

(1) Mean +z, $p/Ja (2) Mean 17 Sp/Ja
(3) Mean 37 Sp/yn (4) Mean 17 SD/n
. 'Iimpmbahﬂktynfmﬁhﬂwngtypeﬂermrmﬂmemerhmnt decides :
(1) Pvalue - (2 Level of significance
(3} Power of the test - (4 None of the above

(1) Unpaird t test - : (2) Wﬂmmnaignr&nk.tnst
(8} Mann Whitney test (4} ‘None of the above

.19 P.T.O.
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71

72.

73.

74.

If the probability to solve a problem by A is 1/2 and by B is 3/4 .
what would be probability that the problem will not be solved ?

(1) 1.0000 2) 0.3750
(3) ©0.1250 (4) 0.5623

In rating the service provided by a walter /fwaitress, the following
responses are possible ! excellent, above average, average, below
average, and poor. The responses are coded from 1 to 5 with 5 being
excellent. These observations are on the :

{1) Nominal scale (2) Ordinal scale
(3} Interval scale (4) Ratio scale

The relative frequency for a class in a frequency distribution is
calculated by :

(1) Diviting the frequency of the class by the number of classes

(2) Dividing the frequency of the class width
(3) Dividing the frequency of the class by the total number of

observations in the data set

(4) Subtracting the lower Hmit of the class from the upper limit and
multiplying the difference by the number of classes

Consider these three variables ; () whether you arc a SA citizen (i)
your marital status (iil) the time it took you to get to UCT this morning.

In the order given, these variables are :
(1) nominal, interval, interval * (2) interval, interval, nominal
(3) nominal, interval, nominal (4] nominal, nominal, interval,

20
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Ifthreenumhcrsx.y.zaresuchthat.x+y+z=98.x;_y::2:3and
y-z::5:8. Then the average of x and z are ;
(1) 30 2) 32 3 34 4) 39

Hawug&ﬂ'ﬁwmﬁmmnmnbmhmmwnbeﬂmmm
bctmnthesmallmtmdthelargﬁst numbers ?
(1) 40 (2) 140

3) 240 ' (4) Data is insufficient

K-mmﬁﬁmnmmdMgmanmmn
W.ﬁmﬂmmmmdmdmm.lmtnumbﬁs
respectively are : ‘ :
(1) Oando ;W“ () 10ando
(8} 10amd10 & (4) Data is insufficient
For any finfte distribution, the most justified relation between standard
deviation o and range R is :
(1) osR/2 (2) o2R/2
(3} o=R/2’ ‘ 4] o=R

- .
I P (A} = 0.7, P(B) = 0.6, then which of the following statements is °
at“mystmeahnqtp (A/B)
(1) 0.7 @ 205
B} <0.5 4 0.8

. Adiehtﬁtuwnaakmgasmxyfmaﬂntmnup. Given that the

4dmnuttumupatthcﬂrstthmw.ﬂmithnmbahmtythntm

(1) 125/216 (2) 91/216
(3 215/216 ‘ (4 1/218
N
21

P.T.0,
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81. The suitable formula for computing the number of classes is :

82.

85.

86,

(1) 3.322 logN (2) 0. 322 logN
38y 143. 322 logN (4) 1-3. 322 logN

A source note in a statistical table is given ;.
(1) At the end of a table (2) In the beginning of a table
(3) In the middle of a table (4) Below the body of a table

. In a statistical table, column captions are called ;

{1} Box head (2) Stub
(3) Body : (4) Title

. The headings of the rows of a table are called :

(1) Prefatory notes (2} Titles

(3) Stubs [4) Captions

The suitable diagram to represent the data rkelaﬂng to the monthly
expenditure on different items by a family is ;%

(1) Historigram (2) Historgam

{3) Muitiple bar diagram (4) Ple diagram

The historigram is the graphical presentation of data which are

classified ;
{1} Geographically (2) Numerically
{3) _Qualitativﬁly {(4) According to time

22
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Cumulative frequency polygon can be used for the caleulation of :
(1} mean i2) Median
{3) Mode (4} Geometric mean

; Wmeﬁufﬂaefolbwnﬂvnluesnf&mﬁnm&&dmtafmﬂaﬂm

I, depicts weakest Hnear relationship between x and y variables :

(1) -0.9 o 2] 0
B} 0.5 _ - [4) cannot say

. The value we would predict for the dependent variable. when the

mdcmlmt.mmumanmmmmca&d:
(1) Slope {2) Sum of residual

 (3) Intercept (4) can not say

80. The predicted rate of response of the dependent variable to changes
in the independent variable is called -
(1) Slope ' (2) Intercept
(8) Exror 4 Regrossion equation
81, The independent variable is also called : _
(1) Regressor (2) Regressand
(3) Predictand . (4 Estimated
92. Regression coeflicient 1s independent of -
(1) Units of measurement (2) Scale and origin
(3) Both (o) and @) (4) None of thege

’3 . PaT-.O‘.
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93.

94.

8b.

Ifr, = 0.75, then correlation coefficient between u = 1.5 X and v = 2Y
is .

1) o 2) 0.75 (3) -0.75 {4 1.543

On what is the width of the confidence interval estimate for the
predicted value of Y dependent ?

(1) The standard error of the estimate

{2) Sample size

(3] The value of X for which the prediction is being made
(4] All the options are cotrect

In a study, the data was taken from the RBI reports. What kind of
data is this ?

(1) Primary

{2) Secondary

(3) Both

4} Neither primary nor secondary

For fitting a regression line one uses the method of least squares
which minhmmes the sum of squared difference between :

(1) Predicted y and actual y
{2) Predicted ¥ and mean y
(3) predicted x and actual X

(4) prf:d:lctcd =¥ and(mean X, mean v}

24
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87. Simple linear regression involves the use of a : _
(1) single numerical independent vartable to predict the numerical
dependent variable .
: dependent variable |
( ngie numerical inde t variable to predict the categorical
3} single numesicq] ndependen p

(4) single cat independent variable to predict the categorical
ME&W ependen predi

i 'a simple regression model, exirapolating the linear
between X and Y is acceptable under what conditions ?
(1) Exapolation is acceptable only when predieting Y ustng values
of X that are "above" the maximum value found in the sample
Extrapolation is acceptable only when predicting Y using values
of X that are either "above” the maxjnium or "below” the mintmum
value jound in the gample from which the mhodel was dertved
(3] Extrapolation s acceptable when predicting Y using values
: of X that are "below" the nfi?ﬂ]?mum value found in the sample
(4) -Exirapolation is never acceptable

reigtionship should be observed between the residual values and
values of X ? - ' '
(1) i the linear model is appropriate for the data, there should be
n? Jgppa:mtrehdumiﬂpbetmm the residual values and values
of.

(2) A statistically significant positive slope (i.e., tive mrrelaﬂau]
(3} A moderately ve sldpe (ie.e, positive correlation) should be
) values and values of X

(4] a moderately negative pe (i.e., negative correlation) should be
found between the 1 values and values of X

25 P.T.0.
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100.The Y intercept in a line represents the :
(1) predicted yaix=0
(2} predicted y
(3) variation over y axis
(4} estimated change in y against unit change in x

101. The slpoe represents .
(1) predicted ¥
(2) the estimated change in average Y per unit change in X
(3) predictedyatx=0
(4) variation around the line of regrwaior.l

102.5 cards are selected randomly from a well shufiled deck of 52 cards.
What is the probability of these 5 cards to be in sequence and from
the same st ? :

(1) °C /5, (2) 40/%C,
(3) C,/%C, (4) 4C,/%C,

103.What is the probability that a 5 digit number randomly formed by
using 0,1,3,5,7 (without repetition) is divisible by 4

(1) 0 2y 1/5 (3) 5/16 4 1

104.Which of the following relations is always true for two random variables
X and Y with finile means :

(1) E [max (X.Y) < max [EX). EY)]
(2) E [max (LY)+min(X.Y)] £ max [EX), E(Y]]
(3) E [max XY)+minXY)] =[E{X)}+ E(Y)]

4) E [max (X.Y)+min{XY)] >[EX}+ EY)

26
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108.For some data on variate X, Pearson's coefficient of Kurtosts B, = 1
means ; '
(1) Kaaaumonlynnevalucwlth-mtlamq
2) X assumes enly equi-probable vahues
3) memmvalmbmmthbemm
“@ -mmmtwaaythmg .

1 108.The maxlnnnnvaﬂm possible for a ﬁmn[ﬁ.p} population is:
(1) =np(1-p) 2) np
(3) nii-p} 4 n/4

107. AmmmamhhMat;- 1 and x = 2, What is
the probalility that % will take value efther 1 or 2 7

(1) 2/e* 2 4/¢
(3) 2/¢* (4) 4/e
108.For an exponential population :
{1) mean < median . @2 median < mean
{3) nnan-me:dzlanfi! l4} all the three are possible

luaﬁndmﬂhwmgupﬂmasupmmemmntystamtw-
P (A, exeept :

(1) B=Q . @) A=y
{3) A=B (4) BoA

(1) Pie chart (@ Bar chart
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111.Which of the following should be used to represent the previous
censuses of India :

(1) pichart (2) clrcular diagram
(3) Rectangular diagram (4) Simple bar diagram
112. Which of the following will be used to identify the average income of
an Indian :
(1) Histogram (2) Frequency polygon
(3) Frequency curve (4) Ogive

113.The mean of two numbers is xv. If one of these number is x then their

median is : -
(1) (3xy - x}/2 (2) xy=x
(3) 2xy-x 4) xy

114. The mean of first three number and last three numbers of four given
numbers is 30 and 40 respectively. If last number is 50, then the
mean of first number and last number is :

(1) 20 (2) 25 3) 30 (4) 35

115, The algebratc sum of the deviations of 20 observations measured from
30 is 2. If this distribution is symmetric then its median 1s :

(1) 15.1 - (2) 30.1
(3) 40.1 (4) Information is insufficient

116. Let a random variable X be normally distributed with a mean and
variance both equal to 100. The value of mean deviation about mode

is approximately equal to !
(1Y 6 2 7 |
(3) 8 {4) Information is insufficient

28
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117. A random variable X has a normal distribution withrtt'le mean p=4. If
84% of the area under the curve lies to the left of X = 5, the area
belowx =3 1s :

(1) 84% {2) 34% (3) 16% (4) Zero

118.Let a random variable X be normally distributed with a mean and
variance both equal to 100. Then third and fourth central moments
respectively, are ! '
(1) (10, 30) @ [©.30 (3 (10, 300) (4) (0. 300)

119. For a standard normal viriate X, P [X > 1,96] is :
(1) 0.95 2 ‘05 (3} 0.05 (4) 0.025

120. Let. the random variable X follows an expbnential distribution with
mean 10. Then PX >30/X > 10) equals :
(1) 1-exp(-2) (2} expl-2)
3  exp(-3} 4) 1/10
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